www.talamidi.com (s a8 sa (e calall 138 Jran o3
as oll ;9=
ool Jol>
@:/(82 _@=64 . J144=122=12 . JBl=1/9>=9 (1
2
T B R )

=10" = @ = [p2x5x73]

7 2 3
— = XSX
6 2 7
J3xJ12 =-/3x12 0,0025 = /25x10™*

=5x10"
=0,05
J24 24 [6x4 4 PA)
@:J;#;:\g:@:s
bsj-(s) . faf-n) L (s)-s
=27(/5f/5 ~11
=27x5x+/5
=135/5
Y _(Y 7
4 ) 4] 16
2% 5% =2x5° ‘@:i o /49 =7 (3
618 3,.4Y
(] el e o
2a’b’

= =3a’b’c =ab’

J63 =112 +/700 = /7x9 —/7x16 +/7x100 (5



www.talamidi.com 23 a8 g0 (e Calall 138 Jrand &8

= J9x/7 =16 x/7 +-/100 x~/7
=3./7-4J7 +10/7
=9./7

/99 —10/1100 —6+/396 = /9x11-10-/100x11 — 6-/36x 11
=J9x /11 -10-/100 x /11 —6/36 x /11
=3/11-10x10-/11-6x6-/11
=311 -100-/11 3611
=-133/11

iM—o,leog - iJ16x3 ~0,5/36x3

=ix4ﬁ—o,5x6ﬁ

=3/3-3/3
=0

J / J J9x7 J4x7
25%x3 9x3
=J+4xxJ—2x2xJ7
3 5 3 3 3
W 12f 4f
= |-+ — | ——— _|—
3 543 33
12 4 W
=[1+———|x,|—
e

(15+36—2OJ 7
= ——— X

15 3
_317
1513

(3ﬁ_2)z=(3ﬁ)2—2x3ﬁx2+22
=9x2-12-/2 +4

=18-12/2 +4
=22-12./2

(15 --fs0) s+ J50)- (15] o]

(2+ﬁ+ﬁxz+ﬁ—ﬁ):[(2+ﬁ)+ﬁ]x[(2+ﬁ)—ﬁj
) (]

(6



www.talamidi.com 23 a8 g0 (e Calall 138 Jrand &8

=22+2x2xﬁ+(ﬁ)2—3

=4-42+2-3
=3-42

29-125=(3-2/5f « 9-4/5=(o- /5] « 4+23=(1+./3] (7
a+4J§+4:(J§+2)z

Jasalava=[(fasaf o Jo-ats = [o-ssf . Ja+23= (3] (8
=-Ja+2 . =«/(ﬁ—2)z =1++/3

=J/5-2
(J5-2 >0 uolhsV)

462 = (J2+3f < 21445 = @ 5f o 7+200 = (J54+02f (9

=/2+3 =2./5+1 =J5+-2
2 25— 10 105 (10
1+5 (f5+1)/5-1) Js ([)2
e s
:4@ =2./5
5-1
_2(/5-1)
4
_J5-1
2
14 B 14(3@—2@) f+f_( +ﬁXﬁ+ﬁ
33425 (33+2/5)3/3-2.5) B (2-B)2+5)

(/2+3)

14l -205)

(3/3)7 —(25)? (2] - (/3]
_14B/3-215) _(2f+2x/2x 3+ (/3]
27-20 23
_1433-2.5) 242643
7 -1
=233-2./5)=6./3-45 =-5-2./6
! i(/a+b+-/a) 2/a _ 2/afi+-/a)

Jaxb--/a (Ja+b—-/aJ/ath+/a) 1—Ja (1=-/a)i+/a)



www.talamidi.com 23 a8 g0 (e Calall 138 Jrand &8

_ Jatb+-a =2J§+2N;f
(fa+b ] -(/af 1-(Jaf
_Jatb+-/a _2Ja+2a
~ a+b-a  l-a
_Ja+b+-/a
b

L2435 (243 05)(/2--/3)-5) (11
f’f’f'&F«f+fo S3)-5)
_((2-5)+ )2 - 5)-5)

(f2-/3] - (/5]

_ (2= S5f- (5]
2+43-2x-/2/3-5

_2+5-2x/2x+/5-3
- ~2.J6
_4-210
2
([4-2/10)xJ6
- —ZJEXJE
46 -2./60
~ —2x6
46 -2.60
)
260 -4./6
- 12
_J60-24/6

6

I ) i(/5--3)-2.2)
Js-Be2l2 (5-03)+2/2)(/5-3)-2.2)
_ 5-43-22
(sl k2]
~ J5-3-2/2
(5]-2e s e 3]
_J5-3-22
5-2/15+3-8
_5-3-22
S 2215




www.talamidi.com 23 a8 g0 (e Calall 138 Jrand &8

(5--2)1s
- —ZRX\E
:ﬁxm—ﬁxm—Zﬁxm
—-2x15
:ﬁXﬁXﬁ—ﬁXﬁxﬁ—2@
-30
_5/3-3/5-2.30
-30
_3/5+2./30-5/3
30

1 N 1 _(ﬁ+ﬁ+1)+(ﬁ+ﬁ—l)
321 B2l (ﬁ+ﬁ+1Xﬁ+ﬁ—l)
_ 234242
(ﬁﬂ@)z—lz
_ 2J3+22
_3+2+2ﬁ—1
C2J3+242
~ 2/6+4
_2ﬁ+ﬁ)
- 2\/84-2
(/3+2)/6-2)
(/6 +2)/6 -2)
J18-2/3+/12-2/2

(V6 -2
3/2-2/3+2/3-2.2
B 64
2
2

3 1

a2 ® g el (12

tlogd,% 8Ll w11 asnyb
3 1 3lB-2)-(B2)
B+l B-2 (B+2)3-2)
3/3-3/2-3-2
(3f- (2]
_23-42
3-2




www.talamidi.com 335 a1 se (e Cilall 138 Jrenl o

=2W—2ﬁ)

1
-2(3-2.2)
a3 s (5]-3
J3-2/2 <0 aiog /3 < 2/2 wi 3<8
1 1

s S oy e
‘ P 2 Aa,b
Wi o3 Vol b,d> plaodl Jexi
| J3+42
B-l2 (B-2)B+12)
_AB3+42
3-2
=3+2
3 (3-2)

-2 (B-L2)B+2)

_3(/3-2)

3-2
=3/3-3.2
aag,hll Jio lagdys 8,La] awhy 34332 ¢ 3+/2 u)lai g
@G}Jﬁf—4¢ﬁ5=«GT+ZXJEXJE+QEY—4JQ; L -1(13
—a+2/ab +b—4/ab
=a—2/ab +b
~(fa-ibf
(fa+lbf=4/ab 03] (Ja—/bf >0
(J;+JB)Z—(M)Z:a+2m+b—(a+b) -2
=2./ab

(Jaxsb] 2 (/asb| 03] 2/ab >0 g
b=0 ol a=0 suzy ab=0 I -/ab =0 S 13| Seluudl WS, W)

(14
2
(«/18+J§) =18+-/8 LuoJ
=18++/4x2
—18+2/2

W9+ﬁ+¢9—ﬁ)2=[x/9+ﬁ)2+2xJ9+m x[9-/79 +[ 9—@)2



a’+2a+2a/b+b+2/b (az+23ﬁ+b)+(2a+2ﬁ)

www.talamidi.com 23 a8 g0 (e Calall 138 Jrand &8

:9+m+2x4/92—(ﬁ +9-./79
=18+2./81-79
=18+2./2
: 03l lizgo J9+/79 +4/9-/79 o 18+ /8 Ulsasll
J18+J§=J9+\@+J9—ﬁ

aspbll s 9

(m)2=6+ﬁ

|

6+-/31 \/6—@[ 6+ﬁ]2 Jmﬁ 631 [f—ﬁ}z
+ = +2x X +

2 2 2 2 2 2

6+31,, [6=(B1) 6=

= +2x
2 4 2
_6+/31+2./36-31+6--/31
- 2
_ 12+2x/§
2
=6+/5

m=\/6+ﬁ +\/6_Jﬁ JON|

2 2

al—ata/b—Jb (az—a)+(aﬁ—£) (15

(a+£)2+2(a+£)

a(a—l)+ﬁ(a—l)

(a+£l(a+ﬁ)+2]
(a+£Xa—1)

_ a+-/b+2

a—1

ﬁ\/H

Jav

2b wl_ 2b J1+b2+2b+w+b2—2b
1+b° 1+b° _/a 1+b° 1+5°
2ab —\/a— 2ab \/a+ab2+2ab_\/a+ab2—2ab
1+5° 1+5° 1+5° 1+b°
N
_J/a Jl4p? 1+
Ja(1+b2+2b)_Ja(l+b2—2b)

J1+p? J1+p?

(16




www.talamidi.com 335 a1 se (e Cilall 138 Jrenl o

1+b b-1
+
_/a 1+b>  J1+p?
Ja [(1+bf  a:/(b-1)
J1+p? J1+p2

I+b+b-1
:ﬁ «/1+b2
Ja(l+b)—-/a(b-1)
J1+p?

2b

3> JS 9 byis plaodl Vol Jeso A Gl (17
1 1 1

'A:J§+1+J§+J§+ .................. +Qiﬁ:?@§
2 . J3-42 . . 100 —+/99
_(ﬁﬂXﬁ—l) (ﬁ+ﬁlﬁ—ﬁ) .................. (er@Xm_@)
:ﬁ—1+ﬁ—ﬁ+ +M—@
2-1 3-2 100 - 99
=¢?;Hw@—}§}%/ .................... .+JE6—¢%
=—1+-/100
=-1+10=9
A=9 w3
©luodl 038 ST s AC Ul Vol >\ (18
AC go AB+BC u,lis w3l
AB+BC =-/343 + /63 L
=J49x7 ++/9x7
=77 +347
=107
AC =-/700 =/100x7 =10./7 9

AB+BC=AC ub|

duoudiowo C g9 B g A badl JUL o





